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Linear Algebra — Part 39

Goal:

Gaussian elimination

Solve A)( =0

L> use row operations fo bring (A | L) info upper triangular form

1 3> backwards substitution:
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> or use row operations to bring (Al L) into row echelon form

L—> construct solution set

(named after Carl Friedrich GauB)
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Example: system of linear equations: Lx, + 3x - 1x, = ¢
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éx1+13x1—4x3 = g
23 1% L3 Y
2 -1 7 o |41 ~> |0 - & |-%
6 1B -4 |3/-31 0 % =3/ 1T
.2 3 -11% . J X, =-1
ackwards _
~> 0 =% & |-%] ~> %= o
substitution X, =3
S N

3
set of solutions: S = z<-4)/§
-1



Gaussian elimination: T
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